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CREATE TABLE t (a int) distributed by (a);

# B table t £ Greenplum HIRIEFER ' a' #HITIRFE D

Join 7£ RDBMS FiBESH 3 MM AR : Nested-Loop Join, Hash Join LA Merge Join, 7E£ OLAP Fhie K ZE8 Join FE{EM Hash Join, EJ OLAP R
EFMENFERBEFERSI
— XF Join

XxF Join AT SEIAISE: https://smartkeyerror.oss-cn-shenzhen.aliyuncs.com/Phyduck/database/MySQL%20J0OIN%20%E5%B7%A5%E4%BD %
9CY%E5%8E% IF%ET7%90%86 %Eb6%B5%85%Eb6%9E%90.pdf

explain select * from t;
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Seq Scanon t (cost=0.00..35.50 rows=2550 width=4)
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Greenplum Gather Motion 3:1 (slicel; segments: 3) (cost=0.00..1063.00 rows=96300 width=4)

-> Seq Scan on t (cost=0.00..1063.00 rows=32100 width=4)
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create table t1 (a int, b int) distributed by (a);
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explain select * from t1, +2 where t1.a = 12.q;
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Gather Motion 3:1 (slice2; segments: 3) (cost=2037.25..1005718.85 rows=7413210 width=16)
-> Hash Join (cost=2037.25..1005718.85 rows=2471070 width=16)
Hash Cond: (12.a = t1.q)
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Hash Key: 12.a
-> Seq Scan on 12 (cost=0.00..961.00 rows=28700 width=8)
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-> Seq Scan on 11 (cost=0.00..961.00 rows=28700 width=8)
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